	ARM-LWR-284 (Rev. 9/05)
	Wisconsin Dept. of Agriculture Trade & Consumer Protection

Agricultural Resource Management Division

PO Box 8911

Madison, WI 53708-8911

(608)-224-4634

	[image: image1.png]isconsin

REP

Conservation Reserve Enhancement Program





	[image: image2.png]
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SUMMARY
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 (Attach additional sheets as necessary)

	1A. 

LOCATION

DESCRIPTION
	1.NRCS LOCATION ID #_______________________

Tract#_______

Field#s_______

DNR Basin_______________

Stream:

    Name__________________

    Length Buffered__________

Waterbody (If not a stream)

    Name__________________

    Length Buffered__________

Draining to 303d water ____YES_____NO


	1.NRCS LOCATION ID #________________________

Tract#_______

Field#s_______

DNR Basin________________

Stream:

  Name___________________

  Length Buffered___________

Waterbody (If not a stream)

   Name____________________

   Length Buffered____________                      

Draining to 303d water ____YES___NO

 
	1.NRCS LOCATION ID #________________________

Tract#_______

Field#s_______

DNR Basin________________

Stream:

  Name___________________

  Length Buffered___________

Waterbody  (If not a stream)

   Name___________________

   Length Buffered___________

Draining to 303d water ____YES_____NO
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PRACTICE INFORMATION
	    Wetland Restoration, Grassed Waterways

                    OR
    Grassland, Filter Strips,        Riparian Buffer

Practice Acres _____________
	    Wetland Restoration, Grassed Waterways  

OR

    Grassland, Filter Strips,        Riparian Buffer

Practice Acres _____________
	    Wetland Restoration, Grassed

    Waterways  

OR

    Grassland, Filter Strips,        Riparian Buffer

Practice Acres _____________



	1C.

ENVIRONMENTAL 

BENEFIT
	Pounds of P Reduced:

_________________ 

Pounds of N Reduced:

_________________

Tons of Sediment Reduced:

_________________


	Pounds of P Reduced:

_________________ 

Pounds of N Reduced:

_________________

Tons of Sediment Reduced:

_________________


	Pounds of P Reduced:

_________________ 

Pounds of N Reduced:

_________________

Tons of Sediment Reduced:

_________________




CALCULATION SHEET

CREP ENVIRONMENTAL BENENFIT REPORT

This form is used to calculate the average annual pollution reduction by waterbody and by practice.  Use the attached summary sheet when submitting this information to DATCP.  You may need to fill out this form for each CREP area.  Summarize the results on the CREP Environmental Benefit Report Summary Form.

Calculated by:  _____________________ County:_____________________

Pollution Reduction for Filter Strips, Riparian Buffers, and Grassland Practices

Calculation of Areas

1. Acres of Permanent Vegetation:  This will generally correspond to the acres covered under the CRP contract.  Calculate the acres or fill in the appropriate acres under the CRP contract under total permanent vegetation.

___________  x  __________ = _________________sq. ft 

average width 
  total length
   sq. ft. of vegetation



(Convert sq. ft. to acres by dividing sq. ft. by 43,560 sq. ft./acre)  

______________/ 43,560 = ____________________acres

sq. ft. of vegetation              total permanent vegetation

2. Acres Contributing Area:  (per side)


Side 1:

Average Slope %  ______
Determine contributing area from Table D on other sheet
Contributing  ______  x  ______________  =  _________   / 43,560 = __________ Acres

  Area Width

average (stream) length     sq. ft.

   contributing area Side 1

Side 2:

Average Slope %  ______
Determine contributing area from Table D on other sheet
Contributing  ______  x  ______________  =  _________   / 43,560 = __________ Acres

  Area Width

average (stream) length      sq. ft.

   contributing area Side 2

3. Total Area:  (Acres permanent + contributing areas)

Side 1:  ______________________  +  ________________  =  ________________

Acres of Permanent Vegetation     Acres of Contributing             Total Acres 


         ____________ acres cropland

__________ acres pastureland

Side 2:  ______________________  +  ________________  =  ________________

Acres of Permanent Vegetation        Acres of Contributing            Total Acres 


         ____________ acres cropland

__________ acres pastureland

Phosphorus Delivery Reduction Calculation

1. Phosphorus Delivery:

Side 1
___________  x            1.1                     =  ______________________

Acres Cropland       Pounds of P per acre           Total Pounds of P Delivery

Side 1 (continued)

__________  x              0.5                    =  ______________________

Acres Pastureland      Pounds of P per acre           Total Pounds of P Delivery

Side 2:
___________  x            1.1                    =  ______________________

Acres Cropland       Pounds of P per acre           Total Pounds of P Delivery

___________  x            0.5                    =  ______________________

Acres Pastureland      Pounds of P per acre           Total Pounds of P Delivery


Total P delivery both sides:  ___________

2.  Phosphorus Reduction:

_____________  x  ___________ =  ___________ Pounds of P Reduced

Pounds of Total P      % Reduction*

*Based on Average Width of Vegetation, One side or both sides, as applicable. (See Table B)
Nitrogen Delivery Reduction Calculation

1.  Nitrogen Delivery

Side 1:
___________  x            0.6                     =  _____________________

Acres Cropland       Pounds of N per acre           Total Pounds of N Delivery

  ___________  x            0.2                    =  ______________________

  Acres Pastureland     Pounds of N per acre        Total Pounds of N Delivery

Side 2:
___________  x            0.6                   =  ______________________

Acres Cropland       Pounds of N per acre         Total Pounds of N Delivery

  ___________  x            0.2                        =  ______________________

  Acres Pastureland     Pounds of N per acre         Total Pounds of N Delivery


Total N delivery both sides:  ___________

2.  Nitrogen Reduction:

____________  x  ___________ =  ____________ Pounds of N Reduced
lbs. of Total N         % Reduction*

*Based on Average Width of Vegetation, Both Sides (See Table B)
Sediment Delivery Reduction Calculation

1.  Sediment Delivery:

Side 1:  _____________  x                0.5                      =  __________________ 

Cropland Acres         Tons of Sediment per acre     Total Tons Sediment Delivery

_____________  x                0.1                     =  __________________ 

Pasture Acres           Tons of Sediment per acre      Total Tons Sediment Delivery
Side 2:  _____________  x                0.5                      =  __________________ 

Cropland Acres         Tons of Sediment per acre     Total Tons Sediment Delivery

_____________  x                0.1                     =  __________________ 

Pasture Acres           Tons of Sediment per acre      Total Tons Sediment Delivery

Total Sediment delivery both sides:  _____________

2.  Sediment Reduction:

______________  x  _____________ =  _____________  Tons Sediment Reduced
Tons of Sediment         % Reduction*

*Based on Average Width of Vegetation, Both Sides (See Table A)
Pollution Reduction for Grassed Waterways

1. Sediment Delivery

Length (ft.) eroded x average width (ft.) eroded x depth (ft.) eroded = cubic feet of soil eroded

Waterway #1

______________  x  ____________  x  ____________  = _____________ cubic feet

Length eroded
  width eroded
        depth eroded
  Total soil eroded

Waterway #2

______________  x  ____________  x  ____________  = _____________ cubic feet

Length eroded
  width eroded
        depth eroded
  Total soil eroded

Convert cubic feet to tons of erosion:

Total Cubic Feet of soil eroded  x  90 pounds per cubic foot of soil  =  Tons of erosion/sediment

2000 pounds per ton of soil

                      cu. ft. of erosion  x  90 lbs./cu. ft.   =  ______________  Tons of erosion/sediment



2000 lbs./ton

If needed, convert the total soil erosion/sediment to an annual amount by dividing the tons of erosion/sediment by the estimated number of years it took to create the rill or gully.

__________  Tons of erosion/sediment /              years =               Tons erosion/sediment per year 

Tables for Tracking Pollution Reduction Resulting From CREP

Table A:   Reduction of Sediment Based on Width of Filter Strip or Riparian Buffer or Grassland Practice

	Width of Vegetation (feet)
	% Reduction

	20
	70

	35
	80

	70
	85

	100
	90

	>150
	95

	>500
	98


Table B:  Reduction of Phosphorus and Nitrates Based on Width of Filter Strip or Riparian Buffer or Grassland Practice
	Width of Vegetation (feet)
	% Reduction

	20
	60

	35
	75

	70
	80

	100
	85

	>150
	90

	>500
	95


Table C:  Predicted Volume of Pollutants Generated Per Acre Based on the Land Use of the Tributary Area and Acres of Riparian Buffer or Filter Strip
	Land Use
	# of P
	# of N
	Tons of Sediment

	Cropland
	1.1
	0.6
	0.5

	Pastureland
	0.5
	0.2
	0.1


Table D:  Predicted Tributary Width/Lineal Foot (each side) of Riparian Buffer/Filter Strip Based on Slope, Land Use

	Land Use
	Slope*(%)
	Tributary Width** (ft)

	Cropland
	0-2
	600

	
	2-6
	450

	
	6-12
	250

	
	>12
	150

	Pastureland
	0-2
	800

	
	2-6
	500

	
	6-12
	300

	
	>12
	200


*    Slope is measured as average slope within 150 to 200 feet of the water resource or buffer area

**  Tributary width plus the width of the filter strip or riparian buffer is multiplied by the lineal feet of buffer or filter strip, divided by 43,560 sq. ft./acre, to determine the acres of contributing area

Wetland Restoration Pollution Reduction Calculation

Sediment Delivery:

_________________  x  ______________ =  __________ Tons Erosion

 Tons of Erosion/acre     Watershed Acres*

_________________  x  _____________ =  __________ Tons of Sediment Delivery
Total Tons of Erosion       % Sediment Rate**

*   Includes watershed contributing to the Wetland Restoration and the Acres of Wetland Restoration

** 3% to 12% based on estimates of sediment rates from nearby watershed projects

Sediment Reduction:

_________ / _________= _______  x 100 = _____ or the Wetland to Watershed ratio

Wetland Ac.    Watershed Ac.
 

The Wetland to Watershed ratio compared to Table E determines the % Sediment Reduction

___________________  x    ___________ = _______ _ Tons Sediment Reduced

Tons of Sediment Delivery   % Reduction*
*  See Table E below
Phosphorus Delivery:

_______________  x  ____________ =  ________ Total Pounds of P Delivered

Pounds of P per acre   Watershed Acres*

*Includes watershed contributing to the Wetland Restoration and the Acres of Wetland Restoration

Phosphorus Reduction:

__________ / ________= ________  x 100 = _______ or Wetland to Watershed ratio

Wetland Ac.    Watershed Ac.
 

The Wetland to Watershed ratio compared to Table ? determines the % Phosphorus  Reduction

__________________  x  _________ =  ________ Pounds of P Reduced

Pounds of P Delivered      % Reduction*
See Table E below

Wetland Restoration Pollution Reduction Calculation (Continued)

Nitrogen Delivery:

_______________  x  ___________  =  ________ Total Pounds of N Delivered

Pounds of N per acre   Watershed Acres*

*Includes watershed contributing to the Wetland Restoration and the Acres of Wetland Restoration

Nitrogen Reduction:

__________ / __________= ______  x 100 = ______ or Wetland to Watershed ratio

Wetland Ac.    Watershed Ac.
 

The Reduction Wetland to Watershed ratio compared to Table ? determines the % Phosphorus  

_________________  x  _________ =  _________  Pounds of N Reduced

Pounds of N Delivered      % Reduction*
*  See Table E below
Table E:  ESTIMATING POLLUTION REDUCTION FROM INSTALLING WETLAND RESTORATIONS

Wetland acres to Watershed Acres Ratio

X 100 

Sediment 
   Phosphorus



Ratio X 100





Reduction
   & Nitrogen 

   Reduction


> or = to 1 : 10  (0.1)



 > 10

     90%

75%


< 1 : 10 (0.1) but > or = to 1 : 20 (.05)

5 to 10

    80%


65%


< 1 : 20 (.05) but > 1: 40 (.025)

2.5 to 5
    50%


40%


< or = to 1 : 40 (.025)



 < 2.5

    20%


10%

Landowner:___________________





County: ___________________
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